

Some new integrals involving I-function of one variable and E-operator

¹SANDEEPAKHARE and ²B. M. L. SRIVASTAVA

(Acceptance Date 22nd December, 2012)

Abstract

The aim of this paper is to establish some new integrals involving I-function of one variable and E-operator.

1. Introduction

The I-function of one variable is defined by Saxena [1, p.366-375] and we will represent here in the following manner:

$$I_{p_i, q_i; r}^{m, n} [x] \left[\begin{matrix} [(a_j, \alpha_j)_{1, n}], [(a_{ji}, \alpha_{ji})_{n+1, p_i}] \\ [(b_j, \beta_j)_{1, m}], [(b_{ji}, \beta_{ji})_{m+1, q_i}] \end{matrix} \right] = (1/2\pi\omega) \int_L \theta(s) x^s ds \quad (1)$$

$$\text{where } \omega = \sqrt{-1}, \quad |\arg x| < \frac{1}{2} B\pi, \quad \forall i \in (1, 2, \dots, r). \quad (4)$$

$$\theta(s) = \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j s) \prod_{j=1}^n \Gamma(1 - a_j + \alpha_j s)}{\sum_{i=1}^r \prod_{j=m+1}^{q_i} \Gamma(1 - b_{ji} + \beta_{ji} s) \prod_{j=n+1}^{p_i} \Gamma(a_{ji} - \alpha_{ji} s)},$$

2. Formula Used:

In the present investigation we require the following formulae:

integral is convergent, when $(B > 0, A \leq 0)$, where

From Sharma [2, p 27 (2.3)], we have

$$B = \sum_{j=1}^n \alpha_j - \sum_{j=n+1}^{p_i} \alpha_{ji} + \sum_{j=1}^m \beta_j - \sum_{j=m+1}^{q_i} \beta_{ji}, \quad (2)$$

$$A = \sum_{j=1}^{p_i} \alpha_{ji} - \sum_{j=1}^{q_i} \beta_{ji}, \quad (3)$$

$$\int_0^1 x^{\rho-1} (1-x)^{\rho-2} {}_2F_1 \left[\alpha, \beta; \frac{\alpha+\beta}{2}; \frac{x(1+a)}{1+ax+b(1-x)} \right] \cdot [1+ax+b(1-x)]^{-2\rho+1} dx$$

$$= \frac{2^{-2\rho+\alpha+\beta-1}\Gamma(\rho-1)\Gamma(\alpha/2+\beta/2-1)\Gamma(\rho-\alpha/2-\beta/2-1)}{(1+a)^\rho(1+b)^{\rho-1}\Gamma(\alpha)\Gamma(\beta)} \\ \cdot \left[\frac{(2\rho-\alpha+\beta-2)\Gamma(\alpha/2+1/2)\Gamma(\beta/2)}{\Gamma(\rho-\alpha/2)\Gamma(\rho-\beta/2-1/2)} + \frac{(2\rho+\alpha-\beta-2)\Gamma(\alpha/2)\Gamma(\beta/2+1/2)}{\Gamma(\rho-\beta/2)\Gamma(\rho-\alpha/2-1/2)} \right], \quad (5)$$

where $\text{Re}(\rho) > 1$, $\text{Re}(2\rho - \alpha - \beta) > 2$, a and b are such that none of the expression $1 + a$, $1 + b$, $1 + ax + b(1 - x)$; $0 \leq x \leq 1$, is zero.

3. Main Integral:

$$\int_0^1 x^{\rho-1}(1-x)^{\rho-2} {}_2F_1\left[\alpha, \beta; \frac{\alpha+\beta}{2}; \frac{x(1+a)}{1+ax+b(1-x)}\right] \\ \cdot [1+ax+b(1-x)]^{-2\rho+1} I_{p_i, q_i; r}^{m, n} \left[\frac{zx^{-\lambda}(1-x)^{-\lambda}}{[1+ax+b(1-x)]^{-2\lambda}} \right] dx \\ = \frac{2^{-2\rho+\alpha+\beta-1}\Gamma(\alpha/2+\beta/2-1)}{(1+a)^\rho(1+b)^{\rho-1}\Gamma(\alpha)\Gamma(\beta)} (\Gamma(\alpha/2+1/2)\Gamma(\beta/2) \\ \cdot I_{p_i+3, q_i+3; r}^{m+3, n} \left[\frac{z2^{2\lambda}}{(1+a)^{-\lambda}(1+b)^{-\lambda}} \middle|_{(\rho-1, \lambda), (\rho-\alpha/2-\beta/2-1, \lambda), (2\rho-\alpha+\beta-1, 2\lambda), \dots}^{(\rho-\alpha/2, \lambda), (-1/2-\beta/2+\rho, \lambda), (-2+2\rho-\alpha+\beta, 2\lambda)} \right] \\ + \Gamma(\alpha/2)\Gamma(\beta/2+1/2) \\ \cdot I_{p_i+3, q_i+3; r}^{m+3, n} \left[\frac{z2^{2\lambda}}{(1+a)^{-\lambda}(1+b)^{-\lambda}} \middle|_{(\rho-1, \lambda), (\rho-\alpha/2-\beta/2-1, \lambda), (2\rho+\alpha-\beta-1, 2\lambda), \dots}^{(\rho-\beta/2, \lambda), (-1/2-\alpha/2+\rho, \lambda), (-2+2\rho+\alpha-\beta, 2\lambda)} \right]), \quad (6)$$

where $\text{Re}(\rho) > 1$, $\text{Re}(2\rho - \alpha - \beta) > 2$, a and b are such that nons of the expressions $1 + a$, $1 + b$, $1 + ax + b(1 - x)$; $0 \leq x \leq 1$, is zero and $\lambda \geq 0$, $|\arg z| < \frac{1}{2}\pi B$, where B is given by equation (2).

Proof of (6):

To establish (6), on the left hand side replace the I-function of one variable by its equivalent counter integral as given in (1), change the order of integration which is valid under

the given conditions, we get

$$\frac{1}{2\pi\omega} \int_L z^\xi \theta(\xi) \left\{ \int_0^1 x^{\rho-\lambda\xi-1} (1-x)^{\rho-\lambda\xi-2} \right. \\ \cdot [1+ax+b(1-x)]^{-2(\rho-\lambda\xi)+1} \\ \cdot {}_2F_1\left[\alpha, \beta; \frac{\alpha+\beta}{2}; \frac{x(1+a)}{1+ax+b(1-x)}\right] dx \Big\} d\xi.$$

Now evaluate the inner integral with the help of (5) and finally interpret it with (1), to obtain (6).

4. Integral by means of finite difference operator E:

$$\begin{aligned}
& \int_0^1 x^{\rho-1} (1-x)^{\rho-2} {}_2F_1\left[\alpha, \beta; \frac{\alpha+\beta}{2}; \frac{x(1+a)}{1+ax+b(1-x)}\right] \\
& \cdot [1+ax+b(1-x)]^{-2\rho+1} I_{p_i, q_i; r}^{m, n} \left[\frac{zx^{-\lambda}(1-x)^{-\lambda}}{[1+ax+b(1-x)]^{-2\lambda}} \right] \\
& \cdot {}_uF_v \left[\begin{matrix} e_1, \dots, e_u \\ f_1, \dots, f_v \end{matrix}; c \left\{ \frac{x(1-x)}{1+ax+b(1-x)^2} \right\}^v \right] dx \\
& = \frac{2^{-2\rho+\alpha+\beta-1} \Gamma(\alpha/2 + \beta/2)}{(1+a)^\rho (1+b)^{\rho-1} \Gamma(\alpha) \Gamma(\beta)} \cdot \sum_{r=0}^{\infty} \frac{\prod_{j=1}^u (e_j; r) c^r}{\prod_{j=1}^v (f_j; r) r!} \left[\frac{1}{4(1+a)(1+b)} \right]^{rv} \\
& \cdot (\Gamma(\alpha/2 + 1/2) \Gamma(\beta/2) \cdot I_{p_i+3, q_i+3; r}^{m+3, n} \left[\frac{z2^{2\lambda}}{(1+a)^{-\lambda}(1+b)^{-\lambda}} \right] | \\
& \quad \dots, (\rho-\alpha/2+rv, \lambda), (-1/2-\beta/2+\rho+rv, \lambda), (-2+2\rho-\alpha+\beta+2rv, 2\lambda), \\
& \quad (\rho-1+rv, \lambda), (\rho-\alpha/2-\beta/2-1+rv, \lambda), (2\rho-\alpha+\beta-1+2rv, 2\lambda), \dots] \\
& + \Gamma(\alpha/2) \Gamma(\beta/2 + 1/2) \cdot I_{p_i+3, q_i+3; r}^{m+3, n} \left[\frac{z2^{2\lambda}}{(1+a)^{-\lambda}(1+b)^{-\lambda}} \right] | \\
& \quad \dots, (\rho-\beta/2+rv, \lambda), (-1/2-\alpha/2+\rho+rv, \lambda), (-2+2\rho+\alpha-\beta+2rv, 2\lambda), \\
& \quad (\rho-1+rv, \lambda), (\rho-\alpha/2-\beta/2-1+rv, \lambda), (2\rho+\alpha-\beta-1+2rv, 2\lambda), \dots]), \tag{7}
\end{aligned}$$

provided that (i) $\text{Re}(\rho) > 1$, $\text{Re}(2\rho - \alpha - \beta) > 2$, a and b are such that none of the expressions $1+a$, $1+b$, $1+ax+b(1-x)$; $0 \leq x \leq 1$, is zero and $\lambda \geq 0$ and $|\arg z| < \frac{1}{2} B\pi$, where B is given by (2) (ii) $u \leq v$ (or $u \leq v+1$ and $|c| < 1$) and no one of f_1, \dots, f_v is zero or a negative integer.

and applying the operator ${}_eE_\rho^v E_\delta$ to get

$$\begin{aligned}
& {}_eE_\rho^v E_\delta \left(\int_0^1 x^{\rho-1} (1-x)^{\rho-2} {}_2F_1\left[\alpha, \beta; \frac{\alpha+\beta}{2}; \frac{x(1+a)}{1+ax+b(1-x)}\right] \right. \\
& \left. \cdot [1+ax+b(1-x)]^{-2\rho+1} \cdot I_{p_i, q_i; r}^{m, n} \left[\frac{zx^{-\lambda}(1-x)^{-\lambda}}{[1+ax+b(1-x)]^{-2\lambda}} \right] \right.
\end{aligned}$$

Proof:

To prove (7), multiply both sides of (6) by

$$\begin{aligned}
& \frac{\prod_{j=1}^u (e_j + \delta) c^\delta}{\prod_{j=1}^v (f_j + \delta)} \cdot \frac{\prod_{j=1}^u (e_j + \delta) c^\delta}{\prod_{j=1}^v (f_j + \delta)} dx \\
& = {}_eE_\rho^v E_\delta \left\{ \frac{\prod_{j=1}^u (e_j + \delta) c^\delta}{\prod_{j=1}^v (f_j + \delta)} \frac{2^{-2\rho+\alpha+\beta-1} \Gamma(\alpha/2 + \beta/2)}{(1+a)^\rho (1+b)^{\rho-1} \Gamma(\alpha) \Gamma(\beta)} \right. \\
& \quad \cdot (\Gamma(\alpha/2 + 1/2) \Gamma(\beta/2) \\
& \quad \cdot I_{p_i+3, q_i+3; r}^{m+3, n} \left[\frac{z2^{2\lambda}}{(1+a)^{-\lambda}(1+b)^{-\lambda}} \right] | \dots, (\rho-\alpha/2, \lambda), (-1/2-\beta/2+\rho, \lambda), (-2+2\rho-\alpha+\beta, 2\lambda), \\
& \quad (\rho-1, \lambda), (\rho-\alpha/2-\beta/2-1, \lambda), (2\rho-\alpha+\beta-1, 2\lambda), \dots] \\
& \quad + \Gamma(\alpha/2) \Gamma(\beta/2 + 1/2) \\
& \quad \cdot I_{p_i+3, q_i+3; r}^{m+3, n} \left[\frac{z2^{2\lambda}}{(1+a)^{-\lambda}(1+b)^{-\lambda}} \right] | \dots, (\rho-\beta/2, \lambda), (-1/2-\alpha/2+\rho, \lambda), (-2+2\rho+\alpha-\beta, 2\lambda), \\
& \quad (\rho-1, \lambda), (\rho-\alpha/2-\beta/2-1, \lambda), (2\rho+\alpha-\beta-1, 2\lambda), \dots] \Big\}. \tag{8}
\end{aligned}$$

Further expand both sides of (8) and use the finite difference operator E [3, p.33, with $w = 1$] has the following operations

$$E_a f(a) = f(a+1), E_a^n f(a) = E_a[E_a^{n-1} f(a)], \quad (9)$$

to get

$$\begin{aligned} & \sum_{r=0}^{\infty} \int_0^1 x^{\rho-1} (1-x)^{\rho-2} {}_2F_1\left[\alpha, \beta; \frac{\alpha+\beta}{2}; \frac{x(1+a)}{1+ax+b(1-x)}\right] \\ & \cdot [1+ax+b(1-x)]^{-2\rho+1} \cdot I_{p_i, q_i; r}^{m, n} \left[\frac{zx^{-\lambda}(1-x)^{-\lambda}}{[1+ax+b(1-x)]^{-2\lambda}} \right] \\ & \cdot \frac{\prod_{j=1}^u (e_j + \delta + r) c^{\delta+r}}{\prod_{j=1}^v (f_j + \delta + r) r!} [x(1-x) \{1+ax+b(1-x)\}^{-2}]^{rv} dx \\ & = \frac{2^{-2\rho+\alpha+\beta-1} \Gamma(\alpha/2+\beta/2)}{(1+a)^{\rho} (1+b)^{\rho-1} \Gamma(\alpha) \Gamma(\beta)} \sum_{r=0}^{\infty} \frac{\prod_{j=1}^u (e_j + \delta + r) c^{\delta+r}}{\prod_{j=1}^v (f_j + \delta + r) r! [4(1+a)(1+b)]^{rv}} \\ & \cdot (\Gamma(\alpha/2 + 1/2) \Gamma(\beta/2) \cdot I_{p_i+3, q_i+3; r}^{m+3, n} \left[\frac{z2^{2\lambda}}{(1+a)^{-\lambda}(1+b)^{-\lambda}} \right] \\ & \dots, \dots, \left(\rho - \frac{\alpha}{2} + rv, \lambda \right), \left(-\frac{1}{2} - \frac{\beta}{2} + \rho + rv, \lambda \right), (-2+2\rho-\alpha+\beta+2rv, 2\lambda) \\ & \left(\rho-1+rv, \lambda \right), \left(\rho - \frac{\alpha}{2} - \frac{\beta}{2} - 1 + rv, \lambda \right), (2\rho-\alpha+\beta-1+2rv, 2\lambda), \dots] \\ & + \Gamma(\alpha/2) \Gamma(\beta/2 + 1/2) \cdot I_{p_i+3, q_i+3; r}^{m+3, n} \left[\frac{z2^{2\lambda}}{(1+a)^{-\lambda}(1+b)^{-\lambda}} \right] \\ & \dots, \dots, \left(\rho - \beta/2 + rv, \lambda \right), (-1/2 - \alpha/2 + \rho + rv, \lambda), (-2+2\rho+\alpha-\beta+2rv, 2\lambda) \\ & \left(\rho-1+rv, \lambda \right), \left(\rho - \alpha/2 - \beta/2 - 1 + rv, \lambda \right), (2\rho+\alpha-\beta-1+2rv, 2\lambda), \dots] \cdot \end{aligned} \quad (10)$$

Next use $(\alpha)_n = \Gamma(\alpha+n)/\Gamma(\alpha)$ change the order of summation and integration on the left hand side of (10) and replace $(e_j+\delta)$ by e_j and $(f_j+\delta)$ by f_j , to have (7).

Acknowledgements

The first author gratefully acknowledge the encouragement & valuable guidance of Dr. V.P. saxena Ex. Vice-chancellor jiwaji university Gwalior. The author is also thankful to Dr. S.S. Shrivastava, Deptt. Of mathematics P.G. College shahdol for their valuable suggestions.

References

1. Saxena, V. P., Formal Solution of Certain New Pair of Dual Integral Equations Involving H-function, Proc. Nat. Acad. Sci. India, 52(A), III (1982).
2. Sharma, Geeta and Rathi, Arjun, K., Integrals of a new series of hypergeometrical series, *Vijnana Parishad Anusandhan Patrika*, Vol. 34, No.1-2, p.25-30 (1991).
3. Bromwich, T. J. I. A., An Introduction to the Theory of Infinite Series (1965).